Doy 3 is Tt\wffa(il, Octoher |§, RO

j}-a&ra:ﬂhr{ +he Second Memwaf‘t‘vg_

gb nmboly

i | 2
[A/;'I"wnf Variables S
DS

Wi var tabiey ?"(X), DIF(X) ol ]QX)

X.’.!
Mfa/\v‘/\z

The derivarwr oF #he oerivapsy o7 )C@(J

That i §x) = (%)}‘ (o/,c@)
an

A

Pz(ﬁ' [”fr(f/d/\/(/‘(( V)C]L“‘((’\ (;) D(f\/af‘xw’ 4/\&/ &/,\[m./}:)
(V\ )QU[(W/\C€ ? I~ Ca-«x;a Pmqu)




(-D@r{“t\( ‘\’\F(éd‘l;”\ /)Ju‘/\7
wards: Xx=( s an flecsion /a«‘/\/ ﬁr §

muﬂlkq
“The yx-vabne Y=C PAISes  Fheye fo FulT

® g(C) M.‘S)LS. (].l\hlkd\l /’L\{/& _{_'{ q'ﬂm.,\/‘)
YN :H«Lﬁr.,;b\ I X=C
2 S C[\An;cj c.«zxcamb af X2&
( Hraof will regaire fhar p”bfalmryr&‘iﬂ afﬂ-z:)




©

Tlf\(“{f ,M(ém/)'e_} ‘.l\udh/»'r\j 4/\_4(72”\7 ?[.)44()‘:1‘4,[‘

"Th ¢ach txample ;. wve wil]l pe ‘71\\/!/\ dﬁn
0\ 7£:f/V\(4 (.ﬂ 7["\/\ a 'F:.«cf. A
e U’l\/‘ answer S‘J\K ?hgf}‘./:\./‘
&ﬂ Fond interveds ahere Fancloon o “‘"‘“r“’}j/f/a/ea.ruy/hmzaml
C-B) Find X-c 2ordinates 1/ local Nem & Ming
CC) Fu\/( 7-c-w/v(md‘f ’7£ /"54—/ /)'\Mo‘m;.\_r
C:D) Fll\d( U\’(/‘t/‘"'{.f w‘f\tl‘e ﬁ"\c 7/ l} Concave “g o o{.q,‘
) Find  X-courdinates oF inFlock.ln poars

CF) F';J 7"’(ldfﬁ/4/\6.)(g d% l‘f\p/(Cf-;,‘ /‘Dd‘:\rj.



@

Exmww/e#{ Qx} = —Xyz‘5d x'

W PR s d zua)‘u;r @),@)/CC} oA 7“‘”") el
To Anfwer~ CD§,$),CFJ we ol S}L‘w(J 5}1:

fy\/()()’- — Y X> tiveX

-g“(‘)():: —l2x% # yoo
l/\arlt Fo Lactsrm 'H‘\'S'}

Foctre by hand:  Fx)= “’Q(X? —-1%.42>
= —1a(x +J§>(X"\)%>
= =il % +\]_§;)/X”l/§;)

= -2 2 ~ 2
e F ot e g (X+F>)[X 73>
X" \/3 Chng e ]QH:—O




g)gf\ (‘,l’\n/f' 7CH~ IC”()() = —-[')_)(Q#/(!O

W
=0 £
=0
AAAAA I “_ 1‘ + '-" P' — —— — -
R l T ! 7 I
X==l0 x;“b =0 X:.j X200
§anmple 3 Samp\¢ \rj Sam/)le

SYC-10)= ~12(-10)° + o =~ — 1200 420 =~ 2

L) = ~12(0)" (20 = (00 = 3
_C“[M):‘(Q_(W)l t(s° = ”ej

o it 0 (<5 2 b P
/37 13

(o @ oAvw - > l
‘? neant hlid ( B s ) owl(_.g)@) Mt(anitl[‘/wy,
3

J3
(E/@ j:/\pldc]‘u/\ prats Xz s S

...2_"
vy /3



CF\ (y—taol‘/(l/\‘vx(.{ d/c '/\I(/(C)"-'.-‘ ﬂd‘;\rf

PEE) ~(3) o)

& V3
= _ &2 F 50(3;7
9 3
= —6%7 L 25e
g 3
= T8 4 3250
7 g
= %25

| = 243
Ot Tnflectin poiae of Xy 3 ( %) %‘)
F(/m) = 327

he af’l«(ru\f'/:c}‘ o bt ot & +5 3/1__2__)—>
T prar i (g) (450 %



@

EXAM/)R Lide ] \?é\’j = Xé*)() ch Six Questoes.
(A) F-~ ¢'Cx)

¢ x) -
) = [dx). & Jd o roded rale
7/)() (wxx) i O()Cf}é) e

(1) vx)(-¢7)

F,NA Pﬁf*ﬂ'}.)‘»\ Auambers ;C" 5/[k)
b\/’/\(/\ N 9‘[)(\ = 0 ? or (Az\/L[-t\c,/,

DOM!I.\ l\S A—U I‘éﬂ/ /\wm(urj_ {o AYX /A»(uej
A s
| caafe 9‘ To be MA4¢,Q~¢‘/.



So get 9'[),) =0 and goloe For y
O: "[X“'\) ebx)

a(“ﬂ) ( pod 1:\/(

0/\\3 )(:-‘91 wsl Caanfc 7’(‘{) =)

hak 7 " ( & ‘
TRt gar only parkily psber Corg!
/L\af" l} dar ﬂf\Ej Cr‘}(C:\/ /P-‘&h{ %lf\j

Sisn chark For 9K = = (x-) £65)

g’ P> . 9'ne
+ - + * g; ““““““
- T [ T -
X=J =i x=2
§i@)= ~(o-)e” = =(=01) =P

9'(1}: -[:?.sl)e("a) = -.(1)..():5 = /)4’:7
==



CA) Conclade 3 4!\61’44[:‘~j OA abrsoa (_..00/,)
h¢c ovage 3' /)af’

éd’\C{mV/C 3 chfé“{‘ rsj N 1/\[*{/./"-/ <l)00)
Wecaase 9( neg,

éa/\c‘(udﬂ j L\ura"z.’/\/\«/ Qf Xaq GCCG—M[Cj/:C)

CB) 6 has  local max ot >
LC) 7 cdu/v{/\w/( pw[‘ FAC ax ‘f ﬁél .g-'; Il ]

Y
¢ e

o e ——; t——
e ss—

amé-ST"\S éD})CE) Cf:) /\m/e P o(a cus Th 5/()()
‘Use /)rodwd_’ /w(€ 4‘74’\ wé /[o)/\t/

9'7}( (X 2)- s

A p‘LWa) pU(lr‘/{
‘H’\;J "V‘\l &Kquc {:9/\ Oﬂ‘(\’-l

——







